Unit 7 Packet - Identities Continued... g l<w ' l
Pre-Calculus Honors . d

?nit 6 Notes — SOLVING TRIG EQUATIONS

RecALL: We have solved basic trig equations before {they were on the last test).
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Ex2: Solve: 2sin’©®-sin@-1=0 (this has a squared term and a linear term, so factor)
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“BLOB” PROBLEMS: ° o

These problems will be'very similar to Example 1. The main difference is the angle.
Ex 3: Solve: si: 1 et (7 =26
i To do: Treat the problem like sinD= 1. C) = blob (represents an unknown angle) '

So, find the angle whose sine=1 = n/2 = Whave s = \

You know that the Unknown angle must represent n/2 in order for the equation to be true...
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Therefore, D /2 + an In the onglnal problem, we did not have a BLOB, we had 26.
Therefore, gta_ n/2 + gE_k Now, you can solve for theta by dividing everything by 2.
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Ex 4: Solve: cos 8/4=1 - ' :
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Ll' Find out what angle hasa cosineof1: O 4+ 2= 2Tk

Set blob contents = to that angle:'@x& =21k Y
Solve for theta:
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5.3 Solving Trig Equations Practice Worksheet #1

Pre-calculus

Solve for the unknown variable on
1. 4cos’x -3=0
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Solve for the unknown varia e on the given interval /gb
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5.3 Solving Trig Equations - Worksheet #2
Pre-calculus

'/art 1: Solve for the unknown variable. Give all of the exact general solutions.
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Part 2: Solve by approximating the solutions on the |nterva

OM« whs
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Part 3: Use the calculator’si mvermrunctrons to approximate'the solutions. Reme must also find the
other solution by(eitheradding rj\subtracting the value from m, or subtracting the value from Zrt,
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